D 1.8 @ 1.08 3 1.83

@1.83

® 1.803

11+ 6 =1.83333--- = 1.83




2.

x = 4.566666 - - - o] ti5to] oF2 F 22 2127

rlo

@ 4.56.0.2 LrebTt,
@ &gt 7t 56 OM

= L}Emm - o]u}
QlOOx 10x = 411 0]11}

® +@skA) gk Faradoltt,

~&B

@ 4.56 © 2 VEPATH
@ =gt = 6ot
137
2 JeERH — OIE}
@ 100x — 10 411 ]E}
® %5 ﬁiié"]ﬂr




®O.Qi:m ®) —_0015
125 .. 124 — 12
— =1. 1. 4_
® 29391 25 Q 2 50
= = 0.934
® 999 0.23
21
0.21 = —
@ 99
15 1
15 = _
@ 0.015 = 990 _ 66
124
1.25 = —
® 99
. 124 -12
124 ="~
® 90
234
® 0234 = =—

999




M

Bl

sty 38 ol it of

o

@ 6 ©) I @ 8 ®9

D5

B gle
1jo

r

D~
Il
iy zw
G+ 1og
o X W
B X N




5. s 1™ AATEY Rt (3ap?)t & W, A2 71E 9] Eol=?

0. N0 2
’ 3b
5ab | ( )\\
| | \
|
Ao
/ \\
/ \\
/ ~
/ S
2 2
@ gazb5 @) gatb6 ® 1—(7)a2b5
8 4 18 5 5
@ 15ab ® 5a b
1 454°b?
(LHe)= 5 x5a%h x (3b)? = “2
2 18
b= (3ab?) X o = — a2
(Bab™) X oo = 5 ¢




x7F=3,-2,-1,0,1,2, 3% 0, £54] x—1 < 4x- 45 WE}= 2]
5109
H .

@ -5 @ -3 ® 2 @ 3 635

x—1<4x—494
x=2°H2-1<4x2-4 (%)
x=3°13-1<4x3-4 (%)
web 7ok sl ghe
24+3=5




7. -3<x<2¥9 W], A=5-2x2H A 9] HE?

O -1<A<11 ® -1<A<11 ® -1<A<11
@1<A511 ®1<A<11




@ 4 @5 3)6 @7

—x+5<2x—-10—15<3x—x>5
whebd sk 7H 2he A4t 6 oltt.




fFrtas2 Uedle Aol o,

® 100

3
= giygg  bema=T5-25=50




10.

E>

2lo] sAE Ate = AR 2 A2

D 35,3 @ 35,5 @ 315, 3

@®)315, 1 ® 315, 5

F2 DS 09 a@ote e 257 ofeh 50 WA 2

1 . <
35 _ 35x9 315 _ 41s ojmm 2atutre 315

111 111x9 999
50+ 3 =16---2 ©]B& 50 A £2t= 1 o]},




® 60 @ 90 )99

@ 15

~&B

1.26

o,
wakA 4 9] ko] | 4 gl AL 5, 9901tk

5




o8

@ 3.141592+= f-etagolt},

eyl
ok %
G <+
o
W
T T
oy
G 4
“d
o o
oF <
a0 ol

247} oyt

o

o

© [j200 |2 <p

o @ @

B

SHA]

OF ERgcxcy

@ 3.141592 —

<

<

Tod

ok

T o
Ny S




13. 82 =x @ &, 24 +3.42 - 27 & 7¥ehs] 5he?

@—x @ x 3 2x @ 3x ® 4x

82 = (28)2 =26 = x
(BH) =24 +3- (22 -2
=2t4+3.2¢-27
=(1+3)2*-27
:22,24_27
:26_27
=x—-2x

= =X




14. (-24xy?) +12xyx A = —8x%y, —8x%*y? = Bx x*y? = 2x%y & |, Ax B,
A+ BO| 3ES A2 FofH?

x X
D 4x2, —4xy* @ - —16x3y* (@)—16x3y4, A

@ 16x3y4, }% ® -16x3y*, —xy*

B )

_12;13 S A ~8x2y oA
-2y x A = —8x%y oA = 4x?
w = 2x3y o A
—8%;1)/5 = 2x3y o B = —4xy*

—-16x%y*

5o AX B = 4x? x (—4xy*)

oA+ B=4x? + (—4xyt) 4




15. ta F FeAoz 7 vl 220

x 9 ot AH 5 7S 300 YAbE] HEEU o] ©2 FE2 3000 ¢
o]atoltt. 1 5x + 300 < 3000

@ x o] 2 Hjety o] 3 HiE Cgt AL x 9y o] T 4 HjH Tt
At i 2x+3y>4x+y

@ o" 4 x = -3 olstoltt. { x< -3

@ g+ Hefl x ¥ok= & 5 NSl a2 2500 YE Tt &, ¢
5x < 2500

® ojH f= x A 55 wWiH 9 Bt AT} L 2x +5<9

B

@ 2x+ 3y >4(x+y)
@x<-3

@ 5x < 2500
®x-5<9




16. —3+2a > -3+2p & o, oh& ] ebe] 550 gl vhmi] izh
o s

Da-4] | b-4 @ 3a-1[ ] 3b-1
a b da-1 4b -1
® -3+5 [ -3+3 @ []

Ql a 1-b 5 5
)= _
6

6




P02 547

o

ﬂ.u_” e

10

or

<+ =

2 e

|

{F e

B o

T

el Mﬁ S

z % 3

T = °

A iy
or

am 8 T

< 3T =

m. < =

Motk 3 il

EEFOQ oy

e uF

UF JJ

A o

T o S 4
~,

SIS v
e}

=

1



18. guldelq HAE 7o |, A7 28 fi7hA= 5 2029
A7t Q. o] Aol f7:7kA] Hof7hA ofel AT fE Ab Al gt
e e 24 300m o], ofo] AT S Abed| 520] Rl
etet. olul, 7= E v E oA 2 m o) W] el glofof =7t

(&, Huld Qtoll= otol2ade o 73 (o)

O 2000m @ 2100m @ 2200m

@®)2250m ® 2350m

07122 A2 xet 5tH

2x
— +5<20
300 tos

S0 x <2250 (m)







20. 3x-2 {x+2y— (y—3x—:)} =-Tx-6y 4 “H,:?l'oﬂ

o o)
o2 427

O -2x-y @ -2x+y ® x+y
@x—l—Qy ® 3x+ 3y

B
sx—2{x+2y-(y-3x-__ )}

:3x—2(x+2y—y+3x+\:|)
:3x—2x—4y+2y—6x—2\:|
= 5x-2y-o |

= —Tx — 6y

s J=xt2y




21. A = (12a°b° - 8a°h*)+(2a%b)?, B = (4a®b* — a*b?)=(-ab)?> 4 T,

A~ (B+2C) = 3ab® + 1& WZsl= 4 ¢ & Fs4?

@ C=ab @ C = ab? @c:—smﬁ

@ C = 3ab? ® C=-ab

B ~
Zo]7 A A, BE AestH
A = 3ab® — 2ab?, B = 4ab* — 10|t}
A— (B+2C) = 3ab® + 114
A—-B-2C = 3ab® +1°]11,
2C =A-B-3ab®-1
2C = 3ab® - 2ab® — (4ab® - 1) - 3ab® - 1
= —6ab?

oPHL 22 e
C = —3ab? oIk,




12,

1 & WEsh= x 9 7

® o0

FAA g 2 A5

®-:

—Tx>7

>1, 4(2x-1) -

Lx< -1

3(5x—3) > 12,

- Tx+5>




23.

2
62 WA 2pe]of| Q= 42 p et S uf, 0.ab—0.ba O] S EFALSE

@D 0.13 ® 0.19 ® 0.23

vrerd ), 23 ofl 40 WA Zp2lo] 2 4

@027

- =0.428571, 40 =6 x 6 + 4

62 =6x10 + 2 L b=2
. 0.ab—0.ba = 0.52 - 0.25 = 0.27

L a=>5




24. 3*x27 =81% & WESh= x 9 7Y

® 12

() = 3* x 27 = 3* x 33 = 3*+3
(_Cf_]ﬁ) — 813 — (34)3 — 312
33 =312 of| A x 43 =12 X

Il
©




25. <o X—’Fa, b c ol thsto] (x4y’z

@® 2 @ 4 @6

)

= x0y12718 o

@ 12

1 SR 7Py

® 18

(xayb ) — yadybdzed _ (612,18
ad =6, bd =12, c¢d = 18

d £ 6, 12, 18 o] Ftj-Ff=
.d=6




